NUcxoaHble AaHHbIE
Kannbp: d:=40 ™M Prr-7

Kanubp ronoBHOM 4acTu rpaHatbl: D:=80 MM R:=—=40 MM

MaTepuan B3pbIBYATOrO BELECTBA - TPATUN: P, o:= 1660 Kr/M/3

CKOpOCTb AeTOHATUMK:  wy:=T000 M/cek

MaTtepuan o6n11uoBKkM - Meib MaTtepuan 6poHu - cTasnb
MnoTHOCTb:  py:=8900 Kr/mM~3 MnoTHOCTb:  p,,:=7800 Kr/mM~3
TonwuHa 06nmMuyoBKkK: §:=1 MM TonwwuHa 6poHn: b:=15 MM

1:=0.3 ONbITHbIN KO3(PULNEHT

k,:=0.175 k03PUUMEHT MHTEHCMBHOCTM pacnaaa CTpyu Anst 6eaHol obnmnLoBKy

MonoBuHa yrna koHyca: :=[20° 25° 30° 35° 40° 45° 50° 55° 60° 65° 70° 75°]
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